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QUESTION 1

Which application or data element is required to design a Start Center?
A. Portlet

B. Template

C. Workflow Designer

D. Application Designer

Correct Answer: B

QUESTION 2

Which applications and actions are used to define field editing rules for work orders in various status?
A. Domains application, Edit Rules action

B. Administration application, Domains action

C. Database Configuration application, Attribute Rules action

D. Organizations application, Work Order Options and Edit Rules action

Correct Answer: D

QUESTION 3

Where are system properties defined?
A. System Settings application

B. System Properties application

C. System Configuration application
D. Configuration Properties application

Correct Answer: B

QUESTION 4

When creating a labor record, the administrator has the option to set the labor shift. The shift information is used in the
Assignment Manager application when assigning work orders to this labor record. Where is a shift created?

A. Labor application
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B. Shifts application
C. People application
D. Calendars application

Correct Answer: D

QUESTION 5

Work Order statuses can be set up in which application?
A. Domains

B. Organization

C. Classification

D. Database Configuration

Correct Answer: A

QUESTION 6

What happens when the Rolling Appender reaches the file size limit?

A. The current file is deleted and a new file is created

B. The current file is renamed and a new file is created.

C. The new log statements overwrite the older log on the same file.

D. The current file is moved into the /maximo/logdfile/archive directory and a new file is created

Correct Answer: B

QUESTION 7

At which level are Drilldown options set?
A. Site

B. System

C. ltem Set

D. Organization

Correct Answer: D
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QUESTION 8

Which statement describes the usage of the Conditional Expression Manager?
A. To set user database permissions

B. To set organizational communication templates

C. To set and control the generation of ad hoc reports

D. To set and control access to fields, tabs, and applications

Correct Answer: D

QUESTION 9

Which statement is true about labor?

A. A labor inventory location maintains a balance of inventory items that were issued from a storeroom.

B. A labor record belongs to one craft/skill combination that defines the labor rate that is charged to work orders.

C. There is an optional relationship between person records and labor records that enables tracking a labor record\\'s
personal information.

D. A labor ID can be deleted if listed on a work plan or an assignment as long as the work order(s) have a status of
waiting for approval, closed, or canceled.

Correct Answer: A

QUESTION 10

Which three recipient options are available when designing a communication template? (Choose three.)
A. Role

B. Labor

C. Person

D. E-mail Group

E. Security Role

F. Person Group

Correct Answer: ACF

QUESTION 11

A automation script may contain one or more variables. Which option is a valid binding type?
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A. Field

B. Column

C. Attribute
D. Application

Correct Answer: C

QUESTION 12

When updating a Start Center\\'s Key Performance Indicators (KPIs), which data element is required to facilitate polling
of the system?

A. Action

B. Escalation

C. Cron Task

D. Conditional Expression

Correct Answer: C

QUESTION 13

An example of a possible configuration of Security Groups:
Group Site 1 Site 2 Site 3 Site 4 Purchase Order Limit
AYYNN $5000

BYNNN $10000

CNNYN $15000

DYNNY $7000

If a user belongs to Security Group A, Security Group B, and Security Group D, what is the correct purchase order limit
for that user?

A. $5000

B. $10000
C. $12000
D. $22000

Correct Answer: B

Latest C2010-571 Dumps | C2010-571 Study Guide | C2010-571 Braindumps 5/6


https://www.pass2lead.com/c2010-571.html
https://www.pass2lead.com/c2010-571.html
https://www.pass2lead.com/c2010-571.html

P 2L d https://lwww.pass2lead.com/c2010-571.html
aSS ea 2023 Latest pass2lead C2010-571 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 14

Which database configuration element is used to validate an attribute\\'s values?
A. Alias

B. Domain

C. Relationship

D. Attribute Type

Correct Answer: B

QUESTION 15

Conditional expression 1004 is changed, which is associated with the Assets application and the Locations application.
The original conditional expression 1004 has a type value of 1 that is used to hide a field in these two applications. The
type value is changed to 2 to show the field in the Locations application.

Which statement describes the result when the changed conditional expression is saved?

A. The field shows in both applications

B. The field remains hidden in both applications

C. The field shows only in the Assets application

D. The field shows only in the Locations application

Correct Answer: A
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